Journal of Fractional Calculus and Applications Vol. 13(1) Jan. 2022, pp. 65-81. ISSN: 2090-5858. http://math-frac.org/Journals/JFCA/

CERTAIN SUBCLASSES OF MULTIVALENT FUNCTIONS DEFINED WITH GENERALIZED SÃLÃGEAN OPERATOR AND RELATED TO SIGMOID FUNCTION AND LEMNISCATE OF BERNOULLI

GURMEET SINGH, GAGANDEEP SINGH, GURCHARANJIT SINGH

ABSTRACT. In this paper, the authors introduce new subclasses of multivalent functions defined with generalized Sãlãgean operator related to Sigmoid function and Lemniscate of Bernoulli. The initial coefficient bounds, Fekete-Szegö inequality and Hankel determinant problems are investigated for these classes. The results proved by various authors follow as special cases.

1. INTRODUCTION

The importance of theory of special functions can be gauged from the fact that it draws as much attention of scientists and engineers as that of the researchers working in the field of Physics and Computer science etc.

Out of the treasure of special functions, in this paper we shall focus on the sigmoid function given by

$$h(z) = \frac{1}{1 + e^{-z}},\tag{1}$$

whose working is analogous to the human brain.

The function h(z) is a differentiable function possessing the following attributes: (i) Its output ranges between 0 and 1.

(ii) Sufficiently large input domains are mapped onto a small output range.

(iii) Being a one-one function, no information is lost in the process.

(iv) The function is monotonically increasing.

The above mentioned properties make it quite useful in the Geometric function theory.

²⁰¹⁰ Mathematics Subject Classification. 30C45, 33E99.

Key words and phrases. Analytic functions, Starlike function, Convex function, Subordination, Sigmoid function, Bernoulli Lemniscate, Fekete-Szegö problem, Hankel determinant. Submitted Jan. 22, 2021. Revised March 11, 2021.

^{11, 20}

Let A_p denote the class of functions of the form

$$f(z) = z^{p} + \sum_{n=2}^{\infty} a_{n+p} z^{n+p},$$
(2)

which are analytic and *p*-valent in the open unit disc $E = \{z : |z| < 1\}$. Let U be the class of Schwarzian functions of the form

$$w(z) = \sum_{n=1}^{\infty} c_n z^n,$$
(3)

which are regular in the unit disc E and satisfying the conditions

$$w(0) = 0, |w(z)| < 1.$$

For the functions f and g in E, we say that f is subordinate to g in E, if a Schwarzian function $w(z) \in U$ can be found such that f(z) = g(w(z)), denoted by $f \prec g$. It follows from Schwarz lemma that $f(z) \prec g(z)$ implies that f(0) = g(0) and $f(E) \subset g(E)$ (see detain in [11]).

Sokol and Thomas [22] introduced and studied the class S_L^* in the unit disc E, normalized by f(0) = f'(0) - 1 = 0 and satisfying the condition

$$\frac{zf'(z)}{f(z)} \prec \sqrt{1+z} = q(z), z \in E,$$

where the branch of the square root is chosen to be q(0) = 1.

It is also noted that the set q(E) lies in the region bounded by the right loop of the lemniscate of Bernoulli $\gamma_1 : (x^2 + y^2)^2 - 2(x^2 - y^2) = 0.$

For $f \in A_p$ and $\delta \ge 0$, Goyal et al. [8] introduced the following differential operator:

$$D^0_{\delta}f(z) = f(z),$$

$$D^1_{\delta}f(z) = (1-\delta)f(z) + \frac{\delta}{p}zf'(z) = D_{\delta}f(z),$$

and in general

$$D_{\delta}^{t}f(z) = D_{\delta}(D_{\delta}^{t-1}f(z)) = z^{p} + D_{\delta}f(z) + \sum_{k=p+1}^{\infty} \left[1 + \left(\frac{k}{p} - 1\right)\delta\right]^{t} a_{k}z^{k}, p \in N_{0} = N \cup \{0\}$$

with $D^0_{\delta} f(0) = 0.$

The operator $D_{\delta}^{t}f(z)$ is named as generalized Sãlãgean operator.

For p = 1, the above defined operator coincides with that introduced by Al-Aboudi [3].

For $p = 1, \delta = 1$, the operator $D_1^t f(z) \equiv D^t f(z)$, the well known Sălãgean operator. Let $\phi(z)$ be an analytic function with positive real part in E such that $\phi(0) = 1$ and $\phi'(0) > 0$ and maps E onto a region starlike with respect to 1 and symmetric with respect to the real axis.

In 1976, Noonan and Thomas [14] stated the qth Hankel determinant for $q \ge 1$ and $n \ge 1$ as

$$H_q(n) = \begin{vmatrix} a_n & a_{n+1} & \dots & a_{n+q+1} \\ a_{n+1} & \dots & \dots & \dots \\ \dots & \dots & \dots & \dots & \dots \\ a_{n+q+1} & \dots & \dots & a_{n+2q-2} \end{vmatrix}.$$

This determinant has been investigated by several authors.

In the particular cases, $q = 2, n = p, a_1 = 1$ and q = 2, n = p + 1, the Hankel determinant simplifies respectively to

 $H_2(p) = |a_{p+2} - a_{p+1}^2|$ and $H_2(p+1) = |a_{p+1}a_{p+3} - a_{p+2}^2|$.

The functional $J_{n,m}(f) = a_n a_m - a_{m+n-1}$, $n, m \in N - \{1\}$, was investigated by Ma [10] and it is known as generalized Zalcman functional. The functional $J_{2,3}(f) = a_2 a_3 - a_4$ is a specific case of the generalized Zalcman functional. Various authors including Janowski [4, 5, 6, 21, 23] computed the upper bound for the functional $J_{2,3}(f)$ over different subclasses of analytic functions to obtain a bound for third Hankel determinant. For the functions in the class A_p , the Zalcman functional takes the form of $a_{p+1}a_{p+2} - a_{p+3}$. For q = 3 and n = p as

$$H_3(p) = \begin{vmatrix} a_p & a_{p+1} & a_{p+2} \\ a_{p+1} & a_{p+2} & a_{p+3} \\ a_{p+2} & a_{p+3} & a_{p+4} \end{vmatrix},$$

which is known as Hankel determinant of order 3. For $f \in A_p$ and $a_p = 1$, we have

 $H_3(p) = a_{p+2}(a_{p+1}a_{p+3} - a_{p+2}^2) - a_{p+3}(a_{p+3} - a_{p+1}a_{p+2}) + a_{p+4}(a_{p+2} - a_{p+1}^2),$

$$|H_3(p)| \le |a_{p+2}||a_{p+1}a_{p+3} - a_{p+2}^2| + |a_{p+3}||a_{p+3} - a_{p+1}a_{p+2}| + |a_{p+4}||a_{p+2} - a_{p+1}^2|.$$
(4)

A function $f(z) \in A_p$ is said to be in the class $S^*_{b,p}(\phi)$ if

$$1 + \frac{1}{b} \left[\frac{1}{p} \frac{zf'(z)}{f(z)} - 1 \right] \prec \phi(z).$$

A function $f(z) \in A_p$ is said to be in the class $C_{b,p}(\phi)$ if

$$1 - \frac{1}{b} + \frac{1}{bp} \left[1 + \frac{zf''(z)}{f'(z)} \right] \prec \phi(z).$$

The classes $S_{b,p}^*(\phi)$ and $C_{b,p}(\phi)$, were studied in [1]. For b = 1, we have the classes $S_p^*(\phi)$ and $C_p(\phi)$ (see [2]) and for p = b = 1 the classes reduce to $S^*(\phi)$ and $C(\phi)$ which were earlier introduced and investigated in [9]. These classes reduce to the

classes of starlike and convex functions respectively when $\phi(z) = \frac{1+z}{1-z}$.

Also for p = 1 and $\phi(z) = \frac{1+z}{1-z}$, the classes $S_{b,p}^*(\phi)$ and $C_{b,p}(\phi)$ reduce to the classes $S^*(b)$ and C(b) which were investigated in [13] and [24].

Motivated by above defined classes, we introduce the following subclasses of p-valent analytic functions of complex order related to sigmoid functions and Lemniscate of Bernoulli.

Definition 1.1 For $b \in C$, let the class $M_{p,\lambda}(\delta, t; b, \Phi_{m,n})$ denote the subclass of A_p consisting of functions of the form (2) and satisfying the following condition:

$$p + \frac{1}{b} \left[\frac{z(D_{\delta}^{t}f(z))' + \lambda z^{2}(D_{\delta}^{t}f(z))''}{\lambda z(D_{\delta}^{t}f(z))' + (1-\lambda)(D_{\delta}^{t}f(z))} - p \right] > 0,$$

for $0 \leq \lambda \leq 1$ and $\Phi_{m,n}(z)$ is a simple logistic sigmoid activation function. In particular, $M_{p,\lambda}(1,0;b,\Phi_{m,n}) \equiv M_{p,\lambda}(b,\Phi_{m,n})$, the class studied by Singh and Singh [20]. **Definition 1.2** For $b \in C$, let the class $G_{p,\lambda}(\delta, t; b, \Phi_{m,n})$ denote the subclass of A_p consisting of functions of the form (2) and satisfying the following condition:

$$p + \frac{1}{b} \left[\frac{z(D_{\delta}^t f(z))'}{D_{\delta}^t f(z)} + \lambda \frac{z^2(D_{\delta}^t f(z))''}{D_{\delta}^t f(z)} - p \right] > 0,$$

for $0 \leq \lambda \leq 1$ and $\Phi_{m,n}(z)$ is a simple logistic sigmoid activation function. Particularly, $G_{p,\lambda}(1,0;b,\Phi_{m,n}) \equiv G_{p,\lambda}(b,\Phi_{m,n})$, the class studied by Singh and Singh [20].

Definition 1.3 For $b \in C$, let the class $M_L(\delta, t; p, \lambda, b, \Phi_{m,n})$ denote the subclass of A_p consisting of functions of the form (2) and satisfying the following condition:

$$p + \frac{1}{b} \left[\frac{z(D_{\delta}^t f(z))' + \lambda z^2 (D_{\delta}^t f(z))''}{\lambda z (D_{\delta}^t f(z))' + (1 - \lambda) (D_{\delta}^t f(z))} - p \right] \prec p\sqrt{1 + z},$$

where the branch of the square root is chosen to be $q(0) = 1, 0 \le \lambda \le 1$ and $\Phi_{m,n}(z)$ is a simple logistic sigmoid activation function.

Specifically, $M_L(1,0;p,\lambda,b,\Phi_{m,n}) \equiv M_L(p,\lambda,b,\Phi_{m,n})$ the class studied by Olatunji and Dutta [18].

Definition 1.4 For $b \in C$, let the class $G_L(\delta, t; p, \lambda, b, \Phi_{m,n})$ denote the subclass of A_p consisting of functions of the form (2) and satisfying the following condition:

$$p + \frac{1}{b} \left[\frac{z(D_{\delta}^t f(z))'}{D_{\delta}^t f(z)} + \lambda \frac{z^2(D_{\delta}^t f(z))''}{D_{\delta}^t f(z)} - p \right] \prec \sqrt{1+z},$$

where the branch of the square root is chosen to be $q(0) = 1, 0 \le \lambda \le 1$ and $\Phi_{m,n}(z)$ is a simple logistic sigmoid activation function.

As a special case, $G_L(1,0;p,\lambda,b,\Phi_{m,n}) \equiv G_L(p,\lambda,b,\Phi_{m,n})$ the class studied by Olatunji and Dutta [18].

Recently, various authors as Oladipo [15], Murugusundramoorthy et al. [12], Olatunji et al. [17], and Olatunji [16] have studied sigmoid function for different classes of analytic and univalent functions.

In the present work, we obtained initial coefficient bounds, Fekete-Szegő inequality, second and third Hankel determinants for the classes $M_{p,\lambda}(\delta, t; b, \Phi_{m,n})$, $G_{p,\lambda}(\delta, t; b, \Phi_{m,n})$, $M_L(\delta, t; p, \lambda, b, \Phi_{m,n})$ and $G_L(\delta, t; p, \lambda, b, \Phi_{m,n})$. The results proved by Singh and Singh [20] and Olatunji and Dutta [18] follows as special cases.

To prove our results, we shall make use of the following lemmas:

Lemma 1 [19] If a function $p \in P$ is given by $p(z) = 1 + \sum_{k=1}^{\infty} p_k z^k$, then

$$|p_k| \le 2, k \in N,$$

where P is the family of all functions analytic in E for which p(0) = 1 and Re(p(z)) > 0.

Lemma 2 [7] Let h be the sigmoid function defined in (1) and

$$\Phi_{m,n}(z) = 2h(z) = 1 + \sum_{m=1}^{\infty} \frac{(-1)^m}{2^m} \left(\sum_{n=1}^{\infty} \frac{(-1)^n}{n!} z^n\right)^m,$$

then $\Phi(z) \in P$, |z| < 1, where $\Phi(z)$ is a modified sigmoid function. Lemma 3 [7] Let

$$\Phi_{m,n}(z) = 2h(z) = 1 + \sum_{m=1}^{\infty} \frac{(-1)^m}{2^m} \left(\sum_{n=1}^{\infty} \frac{(-1)^n}{n!} z^n \right)^m,$$

then $|\Phi_{m,n}(z)| < 2$. Lemma 4 [7] If

$$\Phi(z) = 2h(z) = 1 + \sum_{n=1}^{\infty} c_n z^n,$$

where $c_n = \frac{(-1)^{n+1}}{2n!}$, then $|c_n| \le 2$, $n \in N$ and the result is sharp for each n.

2. The class $M_{p,\lambda}(\delta,t;b,\Phi_{m,n})$

2.1 Initial Coefficients

Theorem 2.1 If $f(z) \in A_p$, of the form (2) is belonging to $M_{p,\lambda}(\delta, t; b, \Phi_{m,n})$, then

$$a_{p+1}| \le \frac{p^{t+1}|b|[1+\lambda(p-1)]}{2[1+\lambda p](p+\delta)^t},\tag{5}$$

$$|a_{p+2}| \le \frac{p^{t+2}|b|^2[1+\lambda(p-1)]}{8[1+\lambda(p+1)](p+2\delta)^t} = h_1,$$
(6)

$$|a_{p+3}| \le \frac{p^{t+1}|b|[1+\lambda(p-1)]}{24[1+\lambda(p+2)](p+3\delta)^t} \left| \frac{p^2b^2}{2} - \frac{1}{3} \right| = h_2 \tag{7}$$

and

$$|a_{p+4}| \le \frac{p^{t+2}|b|^2[1+\lambda(p-1)]}{192[1+\lambda(p+3)](p+4\delta)^t} \left|\frac{p^2b^2}{2} - \frac{4}{3}\right| = h_3.$$
(8)

Proof. As $f \in M_{p,\lambda}(\delta, t; b, \Phi_{m,n})$, therefore

$$p + \frac{1}{b} \left[\frac{z(D_{\delta}^{t}f(z))' + \lambda z^{2}(D_{\delta}^{t}f(z))''}{\lambda z(D_{\delta}^{t}f(z))' + (1-\lambda)(D_{\delta}^{t}f(z))} - p \right] = p\Phi_{m,n}(z), \tag{9}$$

where

$$\Phi_{m,n}(z) = 1 + \frac{1}{2}z - \frac{1}{24}z^3 + \frac{1}{240}z^5 - \frac{1}{64}z^6 + \frac{779}{20160}z^7 - \dots$$
(10)
Using (10), (9) can be expanded as

$$\begin{aligned} (1+\lambda p)\left(1+\frac{\delta}{p}\right)^{t}a_{p+1}z + 2(1+\lambda(p+1))\left(1+\frac{2\delta}{p}\right)^{t}a_{p+2}z^{2} \\ +3(1+\lambda(p+2))\left(1+\frac{3\delta}{p}\right)^{t}a_{p+3}z^{3} + 4(1+\lambda(p+3))\left(1+\frac{4\delta}{p}\right)^{t}a_{p+4}z^{4} + \dots \\ &= bp\left[\frac{1}{2}z - \frac{1}{24}z^{3} + \frac{1}{240}z^{5}\right] \\ \cdot \left[(1+\lambda(p-1)) + (1+\lambda p)\left(1+\frac{\delta}{p}\right)^{t}a_{p+1}z + (1+\lambda(p+1))\left(1+\frac{2\delta}{p}\right)^{t}a_{p+2}z^{2} \\ &+ (1+\lambda(p+2))\left(1+\frac{3\delta}{p}\right)^{t}a_{p+3}z^{3} + (1+\lambda(p+3))\left(1+\frac{4\delta}{p}\right)^{t}a_{p+4}z^{4} + \dots\right]. \end{aligned}$$

Equating the coefficients of z, z^2 , z^3 and z^4 in (11), we obtain

$$a_{p+1} = \frac{p^{t+1}b[1+\lambda(p-1)]}{2[1+\lambda p](p+\delta)^t},$$
(12)

$$a_{p+2} = \frac{p^{t+2}b^2[1+\lambda(p-1)]}{8[1+\lambda(p+1)](p+2\delta)^t},$$
(13)

$$a_{p+3} = \frac{p^{t+1}b[1+\lambda(p-1)]}{24[1+\lambda(p+2)](p+3\delta)^t} \left[\frac{p^2b^2}{2} - \frac{1}{3}\right]$$
(14)

and

$$a_{p+4} = \frac{p^{t+2}b^2[1+\lambda(p-1)]}{192[1+\lambda(p+3)](p+4\delta)^t} \left[\frac{p^2b^2}{2} - \frac{4}{3}\right].$$
 (15)

Results (5), (6), (7) and (8) can be easily obtained from (12), (13), (14) and (15) respectively.

For $\delta = 1, t = 0$, Theorem 2.1 gives the following result due to Singh and Singh [20]. Corollary 2.1 If $f(z) \in A_p$, of the form (2) is belonging to $M_{p,\lambda}(b, \Phi_{m,n})$, then

$$\begin{split} |a_{p+1}| &\leq \frac{p|b|[1+\lambda(p-1)]}{2[1+\lambda p]}, \\ |a_{p+2}| &\leq \frac{p^2|b|^2[1+\lambda(p-1)]}{8[1+\lambda(p+1)]}, \\ |a_{p+3}| &\leq \frac{p|b|[1+\lambda(p-1)]}{24[1+\lambda(p+2)]} \left| \frac{p^2b^2}{2} - \frac{1}{3} \right] \end{split}$$

and

$$|a_{p+4}| \leq \frac{p^2 |b|^2 [1 + \lambda(p-1)]}{192 [1 + \lambda(p+3)]} \left| \frac{p^2 b^2}{2} - \frac{4}{3} \right|$$

2.2 Fekete-Szegö Inequality

Theorem 2.2 If $f(z) \in A_p$, of the form (2) is belonging to $M_{p,\lambda}(\delta, t; b, \Phi_{m,n})$, then

$$|a_{p+2} - \mu a_{p+1}^2| \le \frac{p^{2t+2}|b|^2[1+\lambda(p-1)]}{4[1+\lambda p]^2(p+\delta)^{2t}} \left| \frac{(1+\lambda p)^2(p+\delta)^{2t}}{2p^t[1+\lambda(p+1)](p+2\delta)^t} - \mu[1+\lambda(p-1)] \right|.$$
(16)

Proof. From (11) and (12), we have

$$a_{p+2} - \mu a_{p+1}^2 = \frac{p^{2t+2}|b|^2 [1+\lambda(p-1)]}{4[1+\lambda p]^2 (p+\delta)^{2t}} \left[\frac{(1+\lambda p)^2 (p+\delta)^{2t}}{2p^t [1+\lambda(p+1)](p+2\delta)^t} - \mu [1+\lambda(p-1)] \right].$$
(17)

Hence (16) can be easily obtained from (17). In particular for $\mu = 1$,

$$|a_{p+2} - a_{p+1}^2| \le \frac{p^{2t+2}|b|^2[1+\lambda(p-1)]}{4[1+\lambda p]^2(p+\delta)^{2t}} \left| \frac{(1+\lambda p)^2(p+\delta)^{2t}}{2p^t[1+\lambda(p+1)](p+2\delta)^t} - [1+\lambda(p-1)] \right| = h_4.$$
(18)

For $\delta = 1, t = 0$, Theorem 2.2 agrees with the following result due to Singh and Singh [20].

Corollary 2.2 If $f(z) \in A_p$, of the form (2) is belonging to $M_{p,\lambda}(b, \Phi_{m,n})$, then

$$|a_{p+2} - \mu a_{p+1}^2| \le \frac{p^2 |b|^2 [1 + \lambda(p-1)]}{4(1+\lambda p)^2} \left[\frac{(1+\lambda p)^2}{2[1+\lambda(p+1)]} - \mu [1+\lambda(p-1)] \right].$$

2.3 Second hankel determinant

 $\begin{aligned} & \text{Theorem 2.3 If } f(z) \in A_p, \text{ of the form (2) is belonging to } M_{p,\lambda}(\delta,t;b,\Phi_{m,n}), \text{ then} \\ & |a_{p+1}a_{p+3} - \mu a_{p+2}^2| \leq \frac{p^{2t+2}|b|^2[1+\lambda(p-1)]^2}{16} \\ & \cdot \left| \frac{1}{3(1+\lambda p)[1+\lambda(p+2)](p+\delta)^t(p+3\delta)^t} \left[\frac{p^2b^2}{2} - \frac{1}{3} \right] - \mu \frac{p^2b^2}{4[1+\lambda(p+1)]^2(p+2\delta)^{2t}} \right|. \end{aligned}$

JFCA-2022/13(1)

71

Proof. From (12), (13) and (14), we have

$$a_{p+1}a_{p+3} - \mu a_{p+2}^2 = \frac{p^{2t+2}|b|^2[1+\lambda(p-1)]^2}{48(1+\lambda p)[1+\lambda(p+2)](p+\delta)^t(p+3\delta)^t} \left[\frac{p^2b^2}{2} - \frac{1}{3}\right] - \mu \frac{p^{2t+4}b^4[1+\lambda(p-1)]^2}{64[1+\lambda(p+1)]^2(p+2\delta)^{2t}}.$$
(20)

Hence (19) can be easily obtained from (20). In particular for $\mu = 1$.

In particular for
$$\mu = 1$$
,
 $|a_{p+1}a_{p+3} - a_{p+2}^2| \le \frac{p^{2t+2}|b|^2[1+\lambda(p-1)]^2}{16}$
 $\cdot \left| \frac{1}{3(1+\lambda p)[1+\lambda(p+2)](p+\delta)^t(p+3\delta)^t} \left[\frac{p^2b^2}{2} - \frac{1}{3} \right] - \frac{p^2b^2}{4[1+\lambda(p+1)]^2(p+2\delta)^{2t}} \right| = h_5.$
(21)

For $\delta = 1, t = 0$, Theorem 2.3 coincides with the following result due to Singh and Singh [20].

Corollary 2.3 If $f(z) \in A_p$, of the form (2) is belonging to $M_{p,\lambda}(b, \Phi_{m,n})$, then $|a_{p+2}a_{p+3} - \mu a_{p+2}^2| \leq \frac{p^2 |b|^2 [1 + \lambda(p-1)]^2}{16}$ $| 1 [p^2 b^2 1] p^2 b^2 |$

$$\left| \frac{1}{3(1+\lambda p)[1+\lambda(p+2)]} \left[\frac{p^2 b^2}{2} - \frac{1}{3} \right] - \mu \frac{p^2 b^2}{4[1+\lambda(p+1)]^2} \right|.$$

2.4 Zalcman Functional

Theorem 2.4 If $f(z) \in A_p$, of the form (2) is belonging to $M_{p,\lambda}(\delta, t; b, \Phi_{m,n})$, then $|a_{p+1}a_{p+2} - a_{p+3}| \leq \frac{p^{t+1}|b|[1+\lambda(p-1)]}{8}$

$$\left| \frac{p^{t+2}b^2[1+\lambda(p-1)]}{2(1+\lambda(p+1)](p+\delta)^t(p+2\delta)^t} - \frac{1}{3[1+\lambda(p+2)](p+3\delta)^t} \left[\frac{p^2b^2}{2} - \frac{1}{3} \right] \right| = h_6.$$

Proof. From (11), (12) and (13), the result (22) is obvious.

For $\delta = 1, t = 0$, Theorem 2.4 gives the following result due to Singh and Singh [20]. Corollary 2.4 If $f(z) \in A_p$, of the form (2) is belonging to $M_{p,\lambda}(b, \Phi_{m,n})$, then

$$|a_{p+1}a_{p+2} - a_{p+3}| \le \left| \frac{p^3 b^3 [1 + \lambda(p-1)]^2}{16(1 + \lambda p)[1 + \lambda(p+1)]} - \frac{p b [1 + \lambda(p-1)]}{24[1 + \lambda(p+2)]} \left[\frac{p^2 b^2}{2} - \frac{1}{3} \right] \right|.$$

2.5 Third Hankel determinant

Theorem 2.5 If $f(z) \in A_p$, of the form (2) is belonging to $M_{p,\lambda}(\delta, t; b, \Phi_{m,n})$, then

$$|H_3(p)| \le h_1 h_5 + h_2 h_6 + h_3 h_4,$$

where h_1, h_2, h_3, h_4, h_5 and h_6 are given by (11), (12), (13), (14), (15), (16) respectively.

Proof. The proof of the result is obvious.

3. The class $G_{p,\lambda}(\delta,t;b,\Phi_{m,n})$

3.1 Initial Coefficients

Theorem 3.1 If $f(z) \in A_p$, of the form (2) is belonging to $G_{p,\lambda}(\delta, t; b, \Phi_{m,n})$, then

$$|a_{p+1}| \le \frac{p^{t+1}|b|}{2[1+\lambda p(p+1)](p+\delta)^t},\tag{23}$$

72 GURMEET SINGH, GAGANDEEP SINGH, GURCHARANJIT SINGH JFCA-2022/13(1)

$$|a_{p+2}| \le \frac{p^{t+2}|b|^2}{4[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)](p+2\delta)^t} = k_1, \qquad (24)$$
$$|a_{p+3}| \le \frac{p^{t+1}|b|}{8[3+\lambda(p+2)(p+3)](p+3\delta)^t} \left| \frac{p^2b^2(p+2\delta)^t}{[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)]} - \frac{1}{3} \right| = k_2$$
(25)

and

$$\begin{aligned} &|a_{p+4}| \le \frac{p^{t+2}|b|^2}{16[4+\lambda(p+3)(p+4)](p+4\delta)^t} \\ &\cdot \left| \frac{1}{[3+\lambda(p+2)(p+3)]} \left[\frac{p^2b^2(p+2\delta)^t}{[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)]} - \frac{1}{3} \right] - \frac{1}{3[1+\lambda p(p+1)]} \right| = k_3. \end{aligned}$$

Proof. As $f \in G_{p,\lambda}(\delta, t; b, \Phi_{m,n})$, therefore

$$p + \frac{1}{b} \left[\frac{z(D_{\delta}^{t} f(z))'}{D_{\delta}^{t} f(z)} + \lambda \frac{z^{2} (D_{\delta}^{t} f(z))''}{D_{\delta}^{t} f(z)} - p \right] = p \Phi_{m,n}(z),$$
(27)

where

$$\Phi_{m,n}(z) = 1 + \frac{1}{2}z - \frac{1}{24}z^3 + \frac{1}{240}z^5 - \frac{1}{64}z^6 + \frac{779}{20160}z^7 - \dots$$
(28)

Using (28), (27) can be expanded as $\lambda p^{t+1}(p-1) + [1+\lambda p(p+1)](p+\delta)^t a_{p+1}z + [2+\lambda(p+1)(p+2)](p+2\delta)^t a_{p+2}z^2 + [3+\lambda(p+2)(p+3)](p+3\delta)^t a_{p+3}z^3 + [4+\lambda(p+3)(p+4)](p+4\delta)^t a_{p+4}z^4 + \dots = bp\left[\frac{1}{2}z - \frac{1}{24}z^3 + \frac{1}{240}z^5\right]$ $\cdot \left[p^t + (p+\delta)^t a_{p+1}z + (p+2\delta)^t a_{p+2}z^2 + (p+3\delta)^t a_{p+3}z^3 + (p+4\delta)^t a_{p+4}z^4 + \dots\right]. (29)$

Equating the coefficients of z, z^2, z^3 and z^4 in (29), we obtain

$$a_{p+1} = \frac{p^{t+1}b}{2[1+\lambda p(p+1)](p+\delta)^t},$$
(30)

$$a_{p+2} = \frac{p^{t+2}b^2}{4[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)](p+2\delta)^t},$$
(31)

$$a_{p+3} = \frac{p^{t+1}b}{8[3+\lambda(p+2)(p+3)](p+3\delta)^t} \left[\frac{p^2b^2(p+2\delta)^t}{[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)]} - \frac{1}{3} \right]$$
(32)

and

$$\begin{aligned} a_{p+4} &= \frac{p^{t+2}b^2}{16[4+\lambda(p+3)(p+4)](p+4\delta)^t} \\ & \left[\frac{1}{[3+\lambda(p+2)(p+3)]} \left[\frac{p^2b^2(p+2\delta)^t}{[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)]} - \frac{1}{3}\right] - \frac{1}{3[1+\lambda p(p+1)]}\right] \end{aligned}$$
Burghts (22) (24) (25) and (26) are becaused from (20) (21) (22) and (23)

Results (23), (24), (25) and (26) can be easily obtained from (30), (31), (32) and (33) respectively.

For $\delta = 1, t = 0$, Theorem 3.1 gives the following result due to Singh and Singh [20]. **Corollary 3.1** If $f(z) \in A_p$, of the form (2) is belonging to $G_{p,\lambda}(b, \Phi_{m,n})$, then

$$|a_{p+1}| \le \frac{p|b|}{2[1+\lambda p(p+1)]},$$

$$\begin{aligned} |a_{p+2}| &\leq \frac{p^2 |b|^2}{4[2 + \lambda(p+1)(p+2)][1 + \lambda p(p+1)]}, \\ |a_{p+3}| &\leq \frac{p |b|}{8[3 + \lambda(p+2)(p+3)]} \left| \frac{p^2 b^2}{[2 + \lambda(p+1)(p+2)][1 + \lambda p(p+1)]} \right| \end{aligned}$$

and

$$\begin{aligned} |a_{p+4}| &\leq \frac{p^2 |b|^2}{16[4 + \lambda(p+3)(p+4)]} \\ &\cdot \left[\frac{1}{[3 + \lambda(p+2)(p+3)]} \left[\frac{p^2 b^2 (p+2\delta)^t}{[2 + \lambda(p+1)(p+2)][1 + \lambda p(p+1)]} - \frac{1}{3} \right] - \frac{1}{3[1 + \lambda p(p+1)]} \right]. \end{aligned}$$

Theorem 3.2 If $f(z) \in A_p$, of the form (2) is belonging to $G_{p,\lambda}(\delta, t; b, \Phi_{m,n})$, then

$$|a_{p+2} - \mu a_{p+1}^2| \le \frac{p^{t+2}|b|^2}{4[1+\lambda p(p+1)]^2(p+\delta)^{2t}} \left| \frac{(p+\delta)^{2t}[1+\lambda p(p+1)]}{[2+\lambda(p+1)(p+2)](p+2\delta)^t} - \mu p^t \right|.$$
(34)

Proof. From (30) and (31), we have

$$a_{p+2} - \mu a_{p+1}^2 = \frac{p^{t+2}b^2}{4[1+\lambda p(p+1)]^2(p+\delta)^{2t}} \left[\frac{(p+\delta)^{2t}[1+\lambda p(p+1)]}{[2+\lambda(p+1)(p+2)](p+2\delta)^t} - \mu p^t\right].$$
(35)

Hence (34) can be easily obtained from (35). In particular for $\mu = 1$,

$$|a_{p+2} - a_{p+1}^2| \le \frac{p^{t+2}|b|^2}{4[1 + \lambda p(p+1)]^2(p+\delta)^{2t}} \left| \frac{(p+\delta)^{2t}[1 + \lambda p(p+1)]}{[2 + \lambda(p+1)(p+2)](p+2\delta)^t} - p^t \right| = k_4.$$
(36)

For $\delta = 1, t = 0$, Theorem 3.2 agrees with the following result due to Singh and Singh [20].

Corollary 3.2 If $f(z) \in A_p$, of the form (2) is belonging to $G_{p,\lambda}(b, \Phi_{m,n})$, then

$$|a_{p+2} - \mu a_{p+1}^2| \le \frac{p^2 |b|^2}{4[1 + \lambda p(p+1)]^2} \left| \frac{[1 + \lambda p(p+1)]}{[2 + \lambda (p+1)(p+2)]} - \mu \right|.$$

3.3 Second hankel determinant

Theorem 3.3 If $f(z) \in A_p$, of the form (2) is belonging to $G_{p,\lambda}(\delta, t; b, \Phi_{m,n})$, then

$$|a_{p+1}a_{p+3} - \mu a_{p+2}^2| \le \frac{p^{2t+2}|b|^2}{16[1 + \lambda p(p+1)]^2} |\eta - \mu\sigma|$$
(37)

where

$$\eta = \frac{[1+\lambda p(p+1)]}{[3+\lambda(p+2)(p+3)](p+\delta)^t(p+3\delta)^t} \left[\frac{p^2b^2(p+2\delta)^t}{[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)]} - \frac{1}{3}\right]$$
(38)

and

$$\sigma = \frac{p^2 b^2}{[2 + \lambda(p+1)(p+2)]^2 (p+2\delta)^{2t}}.$$
(39)
(30) (31) and (32), we have

Proof. From (30), (31) and (32), we have

$$a_{p+1}a_{p+3} - \mu a_{p+2}^2 = \frac{p^{2t+2}b^2}{16[1 + \lambda p(p+1)][3 + \lambda(p+2)(p+3)](p+\delta)^t(p+3\delta)^t} \\ \cdot \left[\frac{p^2b^2(p+2\delta)^t}{[2 + \lambda(p+1)(p+2)][1 + \lambda p(p+1)]} - \frac{1}{3}\right]$$

1

 $\overline{3}$

74 GURMEET SINGH, GAGANDEEP SINGH, GURCHARANJIT SINGH JFCA-2022/13(1)

$$-\mu \frac{p^{2t+4}b^4}{16[2+\lambda(p+1)(p+2)]^2[1+\lambda p(p+1)]^2(p+2\delta)^{2t}}.$$
(40)

Hence (37) can be easily obtained from (40). In particular for $\mu = 1$,

$$|a_{p+1}a_{p+3} - a_{p+2}^2| \le \frac{p^{2t+2}|b|^2}{16[1+\lambda p(p+1)]^2} |\eta - \sigma| = k_5.$$
(41)

For $\delta = 1, t = 0$, Theorem 3.3 coincides with the following result due to Singh and Singh [20].

Corollary 3.3 If $f(z) \in A_p$, of the form (2) is belonging to $G_{p,\lambda}(b, \Phi_{m,n})$, then

$$|a_{p+1}a_{p+3} - \mu a_{p+2}^2| \le \frac{p^2 |b|^2}{16[1 + \lambda p(p+1)]^2} |\eta - \mu\sigma|$$
(42)

where

$$\eta = \frac{[1+\lambda p(p+1)]}{[3+\lambda(p+2)(p+3)]} \left[\frac{p^2 b^2}{[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)]} - \frac{1}{3} \right]$$
(43)

and

$$\sigma = \frac{p^2 b^2}{[2 + \lambda(p+1)(p+2)]^2}.$$
(44)

3.4 Zalcman Functional

Theorem 3.4 If $f(z) \in A_p$, of the form (2) is belonging to $G_{p,\lambda}(\delta, t; b, \Phi_{m,n})$, then $|a_{p+1}a_{p+2} - a_{p+3}| \leq \left| \frac{p^{2t+3}b^3}{8[1+\lambda p(p+1)]^2[2+\lambda(p+1)(p+2)](p+\delta)^t(p+2\delta)^t} - \frac{p^{t+1}b}{8[3+\lambda(p+2)(p+3)](p+3\delta)^t} \left[\frac{p^2b^2(p+2\delta)^t}{[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)]} - \frac{1}{3} \right] \right| = k_6.$ (45)

Proof. From (30), (31) and (32), the result (45) is obvious. For $\delta = 1, t = 0$, Theorem 3.4 gives the following result due to Singh and Singh [20]. **Corollary 3.4** If $f(z) \in A_p$, of the form (2) is belonging to $G_{p,\lambda}(b, \Phi_{m,n})$, then

$$\begin{aligned} a_{p+1}a_{p+2} - a_{p+3} &| \leq \left| \frac{p^3 b^3}{8[1 + \lambda p(p+1)]^2 [2 + \lambda(p+1)(p+2)]} - \frac{pb}{8[3 + \lambda(p+2)(p+3)]} \left[\frac{p^2 b^2}{[2 + \lambda(p+1)(p+2)][1 + \lambda p(p+1)]} - \frac{1}{3} \right] \right|. \end{aligned}$$

3.5 Third Hankel determinant

Theorem 3.5 If $f(z) \in A_p$, of the form (2) is belonging to $G_{p,\lambda}(\delta, t; b, \Phi_{m,n})$, then

$$|H_3(p)| \le k_1 k_5 + k_2 k_6 + k_3 k_4,$$

where k_1, k_2, k_3, k_4, k_5 and k_6 are given by (24), (25), (26), (36), (41), (45) respectively.

Proof. The proof of the result is obvious.

4. The class $M_L(\delta, t; p, \lambda; b, \Phi_{m,n})$

4.1 Initial Coefficients

Theorem 4.1 If $f(z) \in A_p$, of the form (2) is belonging to $M_L(\delta, t; p, \lambda; b, \Phi_{m,n})$, then $x^{t+1|k|} [1 + \lambda(n-1)]$

$$|a_{p+1}| \le \frac{p^{t+1}|b|[1+\lambda(p-1)]}{8[1+\lambda p](p+\delta)^t},\tag{46}$$

$$|a_{p+2}| \le \frac{p^{t+1}|b|[1+\lambda(p-1)]|2bp-5|}{256[1+\lambda(p+1)](p+2\delta)^t} = l_1,$$
(47)

$$|a_{p+3}| \le \frac{p^{t+1}|b|[1+\lambda(p-1)]|6p^2b^2 - 45pb + 14|}{18432[1+\lambda(p+2)](p+3\delta)^t} = l_2$$
(48)

and

$$|a_{p+4}| \le \frac{p^{t+1}|b|[1+\lambda(p-1)]|12p^3b^3 - 180p^2b^2 + 337pb + 651|}{1179648[1+\lambda(p+3)](p+4\delta)^t} = l_3.$$
(49)

Proof. As $f \in M_L(\delta, t; p, \lambda; b, \Phi_{m,n})$, therefore

$$p + \frac{1}{b} \left[\frac{z(D_{\delta}^{t}f(z))' + \lambda z^{2}(D_{\delta}^{t}f(z))''}{\lambda z(D_{\delta}^{t}f(z))' + (1-\lambda)(D_{\delta}^{t}f(z))} - p \right] = p\sqrt{1 + w(z)} = p\sqrt{1 + \frac{\Phi_{m,n}(z) - 1}{\Phi_{m,n}(z) + 1}}$$
(50)

where

$$\Phi_{m,n}(z) = 1 + \frac{1}{2}z - \frac{1}{24}z^3 + \frac{1}{240}z^5 - \frac{1}{64}z^6 + \frac{779}{20160}z^7 - \dots$$
(51)

Using (51), (50) can be expanded as

$$(1 + \lambda p) \left(1 + \frac{\delta}{p}\right)^{t} a_{p+1}z + 2(1 + \lambda(p+1)) \left(1 + \frac{2\delta}{p}\right)^{t} a_{p+2}z^{2}$$

$$+3(1 + \lambda(p+2)) \left(1 + \frac{3\delta}{p}\right)^{t} a_{p+3}z^{3} + 4(1 + \lambda(p+3)) \left(1 + \frac{4\delta}{p}\right)^{t} a_{p+4}z^{4} + \dots$$

$$= bp \left[\frac{1}{8}z - \frac{5}{128}z^{2} + \frac{7}{3072}z^{3} + \frac{217}{98304}z^{4} + \dots\right]$$

$$\cdot \left[(1 + \lambda(p-1)) + (1 + \lambda p) \left(1 + \frac{\delta}{p}\right)^{t} a_{p+1}z + (1 + \lambda(p+1)) \left(1 + \frac{2\delta}{p}\right)^{t} a_{p+2}z^{2} + (1 + \lambda(p+2)) \left(1 + \frac{3\delta}{p}\right)^{t} a_{p+3}z^{3} + (1 + \lambda(p+3)) \left(1 + \frac{4\delta}{p}\right)^{t} a_{p+4}z^{4} + \dots\right]. (52)$$

Equating the coefficients of z, z^2 , z^3 and z^4 in (52), we obtain

$$a_{p+1} = \frac{p^{t+1}b[1+\lambda(p-1)]}{8[1+\lambda p](p+\delta)^t},$$
(53)

$$a_{p+2} = \frac{p^{t+1}b[1+\lambda(p-1)](2bp-5)}{256[1+\lambda(p+1)](p+2\delta)^t},$$
(54)

$$a_{p+3} = \frac{p^{t+1}b[1+\lambda(p-1)](6p^2b^2 - 45pb + 14)}{18432[1+\lambda(p+2)](p+3\delta)^t}$$
(55)

and

$$a_{p+4} = \frac{p^{t+1}b[1+\lambda(p-1)](12p^3b^3 - 180p^2b^2 + 337pb + 651)}{1179648[1+\lambda(p+3)](p+4\delta)^t}.$$
 (56)

Results (46), (47), (48) and (49) can be easily obtained from (53), (54), (55) and (56) respectively.

For $\delta = 1, t = 0$, Theorem 4.1 gives the following result due to Olatunji and Dutta [18].

Corollary 4.1 If $f(z) \in A_p$, of the form (2) is belonging to $M_L(p, \lambda, b, \Phi_{m,n})$, then

$$\begin{aligned} |a_{p+1}| &\leq \frac{p|b|[1+\lambda(p-1)]}{8[1+\lambda p]}, \\ |a_{p+2}| &\leq \frac{p|b|[1+\lambda(p-1)]|2bp-5|}{256[1+\lambda(p+1)]} \end{aligned}$$

and

$$a_{p+3}| \le \frac{p|b|[1+\lambda(p-1)]|6p^2b^2 - 45pb + 14|}{18432[1+\lambda(p+2)]}$$

4.2 Fekete-Szegö Inequality

Theorem 4.2 If $f(z) \in A_p$, of the form (2) is belonging to $M_L(\delta, t; p, \lambda; b, \Phi_{m,n})$, then

$$|a_{p+2} - \mu a_{p+1}^2| \le \frac{p^{t+1}|b|[1+\lambda(p-1)]}{64[1+\lambda p]^2(p+\delta)^{2t}} \left| \frac{(2pb-5)(1+\lambda p)^2(p+\delta)^{2t}}{4[1+\lambda(p+1)](p+2\delta)^t} - \mu p^{t+1}b[1+\lambda(p-1)] \right|.$$
(57)

Proof. From (53) and (54), we have

$$|a_{p+2} - \mu a_{p+1}^2| = \left| \frac{p^{t+1}b[1 + \lambda(p-1)](2bp-5)}{256[1 + \lambda(p+1)](p+2\delta)^t} - \mu \frac{p^{2(t+1)}b^2[1 + \lambda(p-1)]^2}{64[1 + \lambda p]^2(p+\delta)^{2t}} \right|.$$
(58)

Hence (57) can be easily obtained from (58). In particular for $\mu = 1$,

$$|a_{p+2} - a_{p+1}^2| \le \frac{p^{t+1}|b|[1+\lambda(p-1)]}{64[1+\lambda p]^2(p+\delta)^{2t}} \left| \frac{(2pb-5)(1+\lambda p)^2(p+\delta)^{2t}}{4[1+\lambda(p+1)](p+2\delta)^t} - p^{t+1}b[1+\lambda(p-1)] \right| = l_4.$$
(59)

For $\delta = 1, t = 0$, Theorem 4.2 agrees with the following result due to Olatunji and Dutta [18].

Corollary 4.2 If $f(z) \in A_p$, of the form (2) is belonging to $M_L(p, \lambda, b, \Phi_{m,n})$, then

$$|a_{p+2} - \mu a_{p+1}^2| \le \frac{p|b|[1+\lambda(p-1)]}{64[1+\lambda p]^2} \left| \frac{(2pb-5)(1+\lambda p)^2}{4[1+\lambda(p+1)]} - \mu pb[1+\lambda(p-1)] \right|$$

4.3 Second hankel determinant

Theorem 4.3 If $f(z) \in A_p$, of the form (2) is belonging to $M_L(\delta, t; p, \lambda; b, \Phi_{m,n})$, then

$$|a_{p+1}a_{p+3} - \mu a_{p+2}^2| \le \frac{p^{2t+2}|b|^2[1+\lambda(p-1)]^2}{16384[1+\lambda(p+1)]^2}|\eta - \mu\sigma|,$$
(60)

where

$$\eta = \frac{[1+\lambda(p+1)]^2 [6p^2b^2 - 45pb + 14]}{9(1+\lambda p)[1+\lambda(p+2)](p+\delta)^t(p+3\delta)^t}$$

and

$$\sigma = \frac{(2pb-5)^2}{4(p+2\delta)^{2t}}$$

Proof. Using 53), (54), (55) and following the procedure of Theorem 3.3, (60) can be easily obtained.

In particular for $\mu = 1$,

$$|a_{p+1}a_{p+3} - a_{p+2}^2| \le \frac{p^{2t+2}|b|^2[1+\lambda(p-1)]^2}{16384[1+\lambda(p+1)]^2}|\eta - \sigma| = l_5.$$
 (61)

For $\delta = 1, t = 0$, Theorem 4.3 coincides with the following result due to Olatunji and Dutta [18].

Corollary 4.3 If $f(z) \in A_p$, of the form (2) is belonging to $M_L(p, \lambda, b, \Phi_{m,n})$, then

$$|a_{p+1}a_{p+3} - \mu a_{p+2}^2| \le \frac{p^2 |b|^2 [1 + \lambda(p-1)]^2}{16384 [1 + \lambda(p+1)]^2} |\eta - \mu \sigma|,$$

where

$$\eta = \frac{[1 + \lambda(p+1)]^2 [6p^2b^2 - 45pb + 14]}{9(1 + \lambda p)[1 + \lambda(p+2)]}$$

and

$$\sigma = \frac{(2pb-5)^2}{4}.$$

4.4 Zalcman Functional

Theorem 4.4 If
$$f(z) \in A_p$$
, of the form (2) is belonging to $M_{p,\lambda}(\delta, t; b, \Phi_{m,n})$, then
 $|a_{p+1}a_{p+2} - a_{p+3}| \leq \left| \frac{p^{2t+2}b^2[1+\lambda(p-1)]^2(2pb-5)^2}{2048(1+\lambda p)[1+\lambda(p+1)](p+\delta)^t(p+2\delta)^t} - \frac{p^{t+1}b[1+\lambda(p-1)](6p^2b^2 - 45pb + 14)}{18432[1+\lambda(p+2)](p+3\delta)^t} \right| = l_6.$ (62)

Proof. From (53), (54) and (55), the result (62) is obvious. **4.5 Third Hankel determinant**

Theorem 4.5 If $f(z) \in A_p$, of the form (2) is belonging to $M_L(\delta, t; p, \lambda; b, \Phi_{m,n})$, then

$$|H_3(p)| \le l_1 l_5 + l_2 l_6 + l_3 l_4,$$

where l_1, l_2, l_3, l_4, l_5 and l_6 are given by (47), (48), (49), (59), (61) and (62) respectively.

Proof. The proof of the result is obvious.

5. The class $G_L(\delta, t; p, \lambda; b, \Phi_{m,n})$

5.1 Initial Coefficients

Theorem 5.1 If $f(z) \in A_p$, of the form (2) is belonging to $G_L(\delta, t; p, \lambda; b, \Phi_{m,n})$, then

$$|a_{p+1}| \le \frac{p^{t+1}|b|}{8[1+\lambda p(p+1)](p+\delta)^t},\tag{63}$$

$$|a_{p+2}| \le \frac{p^{t+1}|b||2bp - 5[1 + \lambda p(p+1)]|}{128[2 + \lambda(p+1)(p+2)][1 + \lambda p(p+1)](p+2\delta)^t} = d_1,$$
(64)
$$|a_{p+3}| \le \frac{p^{t+1}|b|}{1024[3 + \lambda(p+2)(p+3)](p+3\delta)^t}$$

$$\left| \frac{pb[2pb - 5(1 + \lambda p(p+1))] - 5pb[2 + \lambda(p+1)(p+2)]}{[2 + \lambda(p+1)(p+2)][1 + \lambda p(p+1)]} + \frac{7}{3} \right| = d_2$$
 (65)

and

$$|a_{p+4}| \le \frac{p^{t+1}|b|}{8192[4+\lambda(p+3)(p+4)](p+4\delta)^t}$$

$$\left| \frac{pb\{3[pb\{2pb-5(1+\lambda p(p+1))\}-5pb\{2+\lambda(p+1)(p+2)\}]+7[1+\lambda p(p+1)][2+\lambda(p+1)(p+2)]\}}{3[1+\lambda p(p+1)][2+\lambda(p+1)(p+2)][3+\lambda(p+2)(p+3)]} + \frac{pb\{14[2+\lambda(p+1)(p+2)]-15[2pb-5(1+\lambda p(p+1))]\}}{6[1+\lambda p(p+1)][2+\lambda(p+1)(p+2)]} + \frac{217}{12} \right| = d_3. \quad (66)$$

Proof. These results can be easily proved using the procedure of Theorem 4.1. For $\delta = 1, t = 0$, Theorem 5.1 gives the following result due to Olatunji and Dutta [18].

Corollary 5.1 If $f(z) \in A_p$, of the form (2) is belonging to $G_L(p, \lambda, b, \Phi_{m,n})$, then

$$\begin{aligned} |a_{p+1}| &\leq \frac{p|b|}{8[1+\lambda p(p+1)]}, \\ |a_{p+2}| &\leq \frac{p|b||2bp - 5[1+\lambda p(p+1)]|}{128[2+\lambda (p+1)(p+2)][1+\lambda p(p+1)]}, \end{aligned}$$

and

$$|a_{p+3}| \le \frac{p|b|}{1024[3+\lambda(p+2)(p+3)]} \left| \frac{pb[2pb-5(1+\lambda p(p+1))]-5pb[2+\lambda(p+1)(p+2)]}{[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)]} + \frac{7}{3} \right| = \frac{p|b|}{1024[3+\lambda(p+2)(p+3)]} \left| \frac{pb[2pb-5(1+\lambda p(p+1))]-5pb[2+\lambda(p+1)(p+2)]}{[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)]} + \frac{7}{3} \right| = \frac{p|b|}{1024[3+\lambda(p+2)(p+3)]} \left| \frac{pb[2pb-5(1+\lambda p(p+1))]-5pb[2+\lambda(p+1)(p+2)]}{[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)]} + \frac{7}{3} \right| = \frac{p|b|}{1024[3+\lambda(p+2)(p+3)]} \left| \frac{pb[2pb-5(1+\lambda p(p+1))]-5pb[2+\lambda(p+1)(p+2)]}{[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)]} + \frac{7}{3} \right| = \frac{p|b|}{1024[3+\lambda(p+2)(p+3)]} \left| \frac{pb[2pb-5(1+\lambda p(p+1))]-5pb[2+\lambda(p+1)(p+2)]}{[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)]} + \frac{7}{3} \right| = \frac{p|b|}{1024[3+\lambda(p+2)(p+3)]} \left| \frac{pb[2pb-5(1+\lambda p(p+1))]-5pb[2+\lambda(p+1)(p+2)]}{[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)]} + \frac{7}{3} \right| = \frac{p|b|}{1024[3+\lambda(p+2)(p+3)]} \left| \frac{pb[2pb-5(1+\lambda p(p+1))]-5pb[2+\lambda(p+1)(p+2)]}{[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)]} + \frac{7}{3} \right| = \frac{p|b|}{1024[3+\lambda(p+2)(p+3)]} \left| \frac{pb[2pb-5(1+\lambda p(p+1))]-5pb[2+\lambda(p+1)(p+2)]}{[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)]} + \frac{7}{3} \right| = \frac{p|b|}{1024[3+\lambda(p+2)(p+3)]} \left| \frac{pb[2pb-5(1+\lambda p(p+1))]-5pb[2+\lambda(p+1)(p+2)]}{[2+\lambda(p+1)(p+2)]} + \frac{1}{3} \right| = \frac{p|b|}{1024[3+\lambda(p+2)(p+3)]} \left| \frac{pb[2pb-5(1+\lambda p(p+1))]-5pb[2+\lambda(p+2)(p+2)]}{[2+\lambda(p+1)(p+2)]} + \frac{pb[2pb-5(1+\lambda p(p+1))]-5pb[2+\lambda(p+2)(p+2)]}{[2+\lambda(p+2)(p+2)]} + \frac{pb[2pb-5(1+\lambda p(p+2))]}{[2+\lambda(p+2)(p+2)]} + \frac{pb[2pb-5(1+\lambda p(p+2))]}{[2+\lambda(p+2)(p+2)(p+2)]} + \frac{pb[2pb-5(1+\lambda p(p+2))]}{[2+\lambda(p+2)(p+2)]} + \frac{pb[2pb-5(1+\lambda p(p+2))]}{[2+\lambda(p+2)(p+2)(p+2)]} + \frac{pb[2pb-5(1+\lambda p(p+2))]}{[2+\lambda(p+2)(p+2)(p+2)]} + \frac{pb[2pb-5(1+\lambda p(p+2))]}{[2+\lambda(p+2)(p+2)(p+2$$

5.2 Fekete-Szegö Inequality

Theorem 5.2 If $f(z) \in A_p$, of the form (2) is belonging to $G_L(\delta, t; p, \lambda; b, \Phi_{m,n})$, then $t+1|_{U_1}$

$$|a_{p+2} - \mu a_{p+1}^2| \le \frac{p^{t+1}|b|}{64[1 + \lambda p(p+1)]^2(p+\delta)^{2t}}$$

$$\left| \frac{[2pb - 5(1 + \lambda p(p+1))][1 + \lambda p(p+1)](p+\delta)^{2t}}{2[1 + \lambda p(p+1)][2 + \lambda (p+1)(p+2)](p+2\delta)^t} - \mu p^{t+1}b \right|.$$
Proof. The proof is similar to Theorem 4.2.
In particular for $\mu = 1$,

$$|a_{p+2} - a_{p+1}^2| \le \frac{p^{t+1}b}{64[1 + \lambda p(p+1)]^2(p+\delta)^{2t}}$$
$$\cdot \left| \frac{[2pb - 5(1 + \lambda p(p+1))][1 + \lambda p(p+1)](p+\delta)^{2t}}{2[1 + \lambda p(p+1)][2 + \lambda(p+1)(p+2)](p+2\delta)^t} - p^{t+1}b \right| = d_4.$$
(68)

For $\delta = 1, t = 0$, Theorem 5.2 agrees with the following result due to Olatunji and Dutta [18].

Corollary 5.2 If $f(z) \in A_p$, of the form (2) is belonging to $G_L(p, \lambda, b, \Phi_{m,n})$, then

$$|a_{p+2} - \mu a_{p+1}^2| \le \frac{p|b|}{64[1 + \lambda p(p+1)]^2} \left| \frac{[2pb - 5(1 + \lambda p(p+1))][1 + \lambda p(p+1)]]}{2[1 + \lambda p(p+1)][2 + \lambda (p+1)(p+2)]} - \mu pb \right|.$$

5.3 Second hankel determinant

Theorem 5.3 If $f(z) \in A_p$, of the form (2) is belonging to $G_L(\delta, t; p, \lambda; b, \Phi_{m,n})$, then

$$|a_{p+1}a_{p+3} - \mu a_{p+2}^2| \le \frac{p^{2t+2}|b|^2}{8192[1 + \lambda p(p+1)]^2} |\eta - \mu\sigma|,$$
(69)

where

$$\eta = \frac{[1 + \lambda p(p+1)]}{[3 + \lambda (p+2)(p+3)](p+\delta)^t (p+3\delta)^t}$$

$$\begin{split} &\cdot \left[\frac{pb[2pb-5(1+\lambda p(p+1))]-5pb[2+\lambda (p+1)(p+2)]}{[2+\lambda (p+1)(p+2)][1+\lambda p(p+1)]} + \frac{7}{3} \right] \\ &\text{and} \\ &\sigma = \frac{p^{2t+2}b^2\{2bp-5[1+\lambda p(p+1)]\}^2}{2[2+\lambda (p+1)(p+2)]^2[1+\lambda p(p+1)]^2(p+2\delta)^{2t}}. \end{split}$$

Proof. This theorem can be easily proved following the procedure of Theorem 4.3. In particular for $\mu = 1$,

$$|a_{p+1}a_{p+3} - a_{p+2}^2| \le \frac{p^{2t+2}|b|^2}{8192[1 + \lambda p(p+1)]^2} |\eta - \mu\sigma| = d_5.$$
(70)

For $\delta = 1, t = 0$, Theorem 5.3 coincides with the following result due to Olatunji and Dutta [18].

Corollary 5.3 If $f(z) \in A_p$, of the form (2) is belonging to $G_L(p, \lambda; b, \Phi_{m,n})$, then

$$|a_{p+1}a_{p+3} - \mu a_{p+2}^2| \le \frac{p^2 |b|^2}{8192[1 + \lambda p(p+1)]^2} |\eta - \mu \sigma|,$$

where

$$\eta = \frac{[1+\lambda p(p+1)]}{[3+\lambda(p+2)(p+3)]} \left[\frac{pb[2pb-5(1+\lambda p(p+1))]-5pb[2+\lambda(p+1)(p+2)]}{[2+\lambda(p+1)(p+2)][1+\lambda p(p+1)]} + \frac{7}{3} \right]$$

and
$$212 \left[(21-2)[(2+\lambda(p+1)(p+2))] + \frac{7}{3} \right]$$

$$\sigma = \frac{p^2 b^2 \{2bp - 5[1 + \lambda p(p+1)]\}^2}{2[2 + \lambda(p+1)(p+2)]^2 [1 + \lambda p(p+1)]^2}.$$

5.4 Zalcman Functional

$$\begin{aligned} \text{Theorem 5.4 If } f(z) &\in A_p, \text{ of the form (2) is belonging to } G_L(\delta, t; b, \lambda, \Phi_{m,n}), \text{ then} \\ |a_{p+1}a_{p+2} - a_{p+3}| &\leq \left| \frac{p^{2t+2}b^2 \{2pb - 5[1 + \lambda p(p+1)]\}}{1024[1 + \lambda p(p+1)]^2 [2 + \lambda(p+1)(p+2)](p+\delta)^t (p+2\delta)^t} \right. \\ &\left. - \frac{p^{t+1}b}{1024[3 + \lambda(p+2)(p+3)](p+3\delta)^t} \right. \\ &\left. \cdot \left[\frac{pb\{2pb - 5[1 + \lambda p(p+1)]\} - 5pb[2 + \lambda(p+1)(p+2)]}{[2 + \lambda(p+1)(p+2)][1 + \lambda p(p+1)]} + \frac{7}{3} \right] \right| = d_6. \end{aligned}$$
(71)
Proof. The proof is similar to that of the Theorem 4.4.

5.5 Third Hankel determinant

Theorem 5.5 If $f(z) \in A_p$, of the form (2) is belonging to $G_L(\delta, t; p, \lambda; b, \Phi_{m,n})$, then

$$|H_3(p)| \le d_1 d_5 + d_2 d_6 + d_3 d_4,$$

where d_1, d_2, d_3, d_4, d_5 and d_6 are given by (64), (65), (66), (68), (70) and (71) respectively.

Proof. The proof of the result is obvious.

References

- R.M. Ali, V. Ravichandran and N. Seenivasagan, Coefficient bounds for p-valent functions, Applied Mathematics and Computation, 187(2007), 35-46.
- [2] R.M. Ali, V Ravichandran and K.S Lee, Subclasses of Multivalent Starlike and Convex functions, Bull. Belg. Math. Soc. 16(2009), 385-394.
- [3] F.M. Al-Oboudi, On univalent functions defined by a generalized S?l?gean operator, Int. J. Math.and Math. Sci., 27(2004), 1429-1436.

- [4] Sahsene Altinkaya and Sibel Yalin, Third Hankel determinant for Bazilevic functions, Advances in Mathematics, Scientific Journal, 5(2) (2016), 91-96.
- [5] A. A. Amourah, Feras Yousef, Tariq Al-Hawary and Maslina Darus, On $H_3(p)$ Hankel determinant for certain subclass of p-valent functions, Italian Journal of Pure and Appl. Math. 37 (2017), 611-618.
- [6] K. O. Babalola, On $H_3(1)$ Hankel determinant for some classes of univalent functions, Inequality Theory and Applications, 6 (2010), 1-7.
- [7] O. A Fadipe-Joseph, A. T Oladipo and U.A Ezeafulukwe, Modified sigmoid function in univalent function theory, International Journal of Mathematical Sciences and Engineering Application, 7 (2013), 313-317.
- [8] S. P. Goyal, O. Singh and P. Goswami, Some relations between certain classes of analytic multivalent functions involving generalized S?l?gean operator, Sohag Journal of Math., 1(1)(2014), 27-32.
- [9] F. R. Keogh and E. P. Merkes, A Coefficient Inequality for certain class of Analytic functions, Proc. Amer. Math. Soc. 20(1969), 8-12.
- [10] W. Ma, Generalized Zalcman conjecture for starlike and typically real functions, J. Math. Anal. Appl. 234(1999), 328-329.
- [11] S.S. Miller and P. T. Mocanu, Differential subordination, Theory and Applications, Series on Monographs and Text books in Pure and Applied Mathematics, Vol. 225, Mercel Dekker, New York 2000.
- [12] G. Murugusundaramoorthy and T. Janani, Sigmoid function in the space of univalent λ -pseudo starlike functions, Int. J. of Pure and Applied Mathematics, 101 (2015), 33-41, doi: 10.12732/ijpam.v101i1.4.
- [13] M. A. Nasr and M. K. Aouf, Radius of convexity for the class of starlike functions of complex order, Bull. Fac. Sci. Assiut. Univ. Sect. A, 12 (1983), 153-159.
- [14] J.W. Noonan and D.K. Thomas, On the second Hankel determinant of areally mean p-valent functions, Trans. Amer. Math. Soc. 223(2) (1976), 337-346.
- [15] Abiodun Tinuoye Oladipo., Coefficient inequality for subclass of analytic univalent functions related to simple logistic activation functions, Stud. Univ. Babes-Bolyai Math., 61(2016), 45-52.
- [16] S. Olatunji, Sigmoid Function in the Space of Univalent λ -Pseudo Starlike Function with Sakaguchi Type Functions, Journal of Progressive Research in Mathematics, 7 (2016), 1164-1172.
- [17] S. Olatunji, E. Dansu and A. Abidemi, On a sakaguchi type class of analytic functions associated with quasi-subordination in the space of modified sigmoid functions, Electronic Journal of Mathematical Analysis and Applications, 5(1) (2017), 97-105.
- [18] S. Olatunji and H. Dutta, Subclasses of multivalent functions of complex order associated with sigmoid function and Bernoulli lemniscate, TWMS J. App. Engg. Math., 10(2)(2020), 360-369.
- [19] Ch. Pommerenke, Univalent functions, Göttingen: Vandenhoeck and Ruprecht, 1975.
- [20] Gagandeep Singh and Gurcharanjit Singh, Subclasses of multivalent functions of complex order related to sigmoid function, Journal of Computer and Mathematical Sciences, 9(2) (2018), 38-48.
- [21] Gagandeep Singh and Gurcharanjit Singh, On third Hankel determinant for a subclass of analytic functions, Open Science Journal of Mathematics and Applications, 3(6) (2015), 172-175.
- [22] J. Sokol and D. K Thomas, Further results on a class of starlike functions related to the Bernoulli Lemniscate, Houston J. Math., 44(2018), 53-95.
- [23] D. Vamshee Krishna, B. Venkateswarlu and T. Ramreddy, Third Hankel determinant for certain subclass of pvalent functions, Complex Variables and Elliptic Equations, 60(9) (2015), 1301-1307.
- [24] P. Wiatrowski, On the coefficients of some family of holomorphic functions, Zeszyty Nauk. Uniw. L?dz Nauk. Mat.-Przyrod. (Ser. 2), 39 (1970), 75-85.

GURMEET SINGH

DEPARTMENT OF MATHEMATICS, GSSDGS KHALSA COLLEGE, PATIALA (PUNJAB), INDIA. *E-mail address:* meetgur1110gmail.com GAGANDEEP SINGH

Gurcharanjit Singh

Department of Mathematics, Punjabi University, Patiala (Punjab), India.

DEPARTMENT OF MATHEMATICS, G.N.D.U. COLLEGE, CHUNGH, TARN-TARAN(PUNJAB), INDIA. *E-mail address:* dhillongs82@yahoo.com